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Engineering Analysis of Banana’s Supporter and lts Design
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Abstract

!

1. The results of the experiment under the assumption of wind velocity 35m/sec may be

concluded as follows:

a. The 17 kg of wind force was produced on the leaves of banana tree of the dist-
ance 365.cm from the ground surface(Average height of banana is 5m)
b. The 28 kg of wind force was produced on the stem of banana tree at the distance

140 cm from the ground surface (Average height of the stem of banana is 280cm)

f c. The max. resistance of the banana tree was in the range of 4-11 kg/cm?
d. The max. stress produced by the wind is 7 kg/cm?® at the foot of banana tree.
2. The factor of safgty may be up to 1.4 if 6cm of diameter of bamboo is used as supp- -

orter. : - -

3. Bituminous treatment in the parts both in the buried part and a little bit above the
ground of bamboo is recemmended to last the life of bamboo. ]
4. A required minimum buried depth 60cm of bamboo was recommended for any kinds

of soil.
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